

RV Shop, Inc.

Renegade Motorhomes

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA Salesman: James Hickey

Tel. 574-848-1126 Fax 574-848-1127 Phone: 225-272-8000

Dealer:

www.renegaderv.com Fax:

PO#: Customer Name:

Job #: K01-3974 REV:3 Date Written: 8/12/2025

Description	Color	UOM	Qty	Price	Amount
Chassis					
Freightliner Cascadia 126, DD16/600HP, DT12, Tandem Axle, Safety Assurance Pkg.		EA		\$253,330	\$253,330
Hood Mounted Mirrors (Cascadia Chassis Only)		EA		\$2,030	\$2,030
US Domiciled		EA		\$0	\$0
				Sub Total	\$255,360
Renegade Conversion					
Classic 45' Mid Entry, Triple Slide, Bunk Beds - 45CBF		EA		\$387,940	\$387,940
2026MY - 245" C/A	•				
				Sub Total	\$387,940
Exterior					
Electric Trailer Brake Controller w/ Digital Display		EA		\$0	\$0
20 Mil TempCoat Walls & Ceiling Only		LF	34	\$112	\$3,808
Underbody LED Lights - Color changing w/controller		EA		\$1,330	\$1,330
LED Lights Under Slideouts - Color Changing		EA		\$980	\$980
12V LED Scene Light		EA	5	\$322	\$1,610
(2) R/S, (2) C/S, (1) REAR					
Optional deluxe light layout with six extra lights & center brake light		EA		\$1,680	\$1,680
Midship Turn Signals		EA		\$210	\$210
Full 7'6" Interior Height (90")		EA		\$0	\$0
110v/20A Recept, Load - C/S rear box w/turnout		EA		\$315	\$315
Undercoating		EA		\$0	\$0
Docking Lights - LED		EA		\$0	\$0
Side Swing Baggage Doors w/strut assist - White		EA		\$0	\$0
Trimark Handle Keyless Entry - Side Door		EA		\$0	\$0
Diamond Shield Anti-Chip Paint Protection (required if coach is painted)		EA		\$1,050	\$1,050
4-Point Auto Leveling System w/App Control		EA		\$0	\$0
Power Locking Baggage Doors - where applicable		EA		\$0	\$0
Full Width Mudflap		EA		\$0	\$0
3/4 Pass Thru Compartment, C/S rear		EA		\$770	\$770
Spray Cargo Compartments w/Bedliner Material - Grey		EA		\$2,485	\$2,485
Universal Adj. Hitch w/2"& 2 5/16" Ball, 2" Reducer, and Pintle Lock		EA		\$0	\$0



RV Shop, Inc.

James Hickey

Renegade Motorhomes

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Tel. 574-848-1126 Fax 574-848-1127 Phone: 225-272-8000

Dealer:

Salesman:

www.renegaderv.com Fax:

PO#: Customer Name:

Job #: K01-3974 REV:3 Date Written: 8/12/2025

Description	Color	UOM	Qty	Price	Amount
Insulated Roof Hatch		EA		\$1,190	\$1,190
R/S	•	•			
Tempcoat Waste Tank Box		EA		\$0	\$0
110V Recept - 20A		EA		\$126	\$126
R/S Rear Compartment	-	-			
Bunkover w/Cab Cutout: 60" x 83" (Split Cushion on Slider) w/CS Cubby Storage & CS/RS Windows		EA		\$0	\$0
				Sub Total	\$15,554
Paint					
Paint - Personalized Design (Tier 4) - Subject to Surcharge	Glacier 002	EA	Т	\$51,100	\$51,100
	·	I	•	Sub Total	\$51,100
Warranty					
One Year Limited Conversion Warranty (Included)	T	EA	Т	\$0	\$0
, , ,				Sub Total	\$0
Awnings					
Slide Toppers	Black w/ Black Fabric	EA		\$0	\$0
R/S Awning Profiles w/Turn downs		EA		\$5,593	\$5,593
Girard Vision Dual Pitch Awning (Additional)	Black w/ Black Fabric	EA		\$5,600	\$5,600
Girard Vision Dual Pitch Awning	Black w/ Black Fabric	EA		\$0	\$0
				Sub Total	\$11,193
Windows					
Bonded Thermopane Windows		EA	Π	\$0	\$0
Skylight over Shower		EA		\$413	\$413
Cab Window Tint		EA		\$315	\$315
Skylight over 2nd shower				\$413	\$413
Power Night/Manual Day Window Shades		EA		\$0	\$0
54x24 Picture Windows ILO Vented Windows (ea)		EA		\$210	\$210
Theater Seats	-	•	-	•	
54x36 Pic Window w out OHC				\$245	\$245
Above Dinette		-		•	
				Sub Total	\$1,596



RV Shop, Inc.

Renegade Motorhomes

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA Salesman: James Hickey

Tel. 574-848-1126 Fax 574-848-1127 Phone: 225-272-8000

Dealer:

www.renegaderv.com Fax:

PO#: Customer Name:

Job #: K01-3974 REV:3 Date Written: 8/12/2025

Description	Color	UOM	Qty	Price	Amount
Interiors					
Cab Privacy Curtain- rail type	Sandborn Dove	EA		\$315	\$315
Cabover Bunk Privacy Curtain		EA		\$420	\$420
"Soft Touch" Padded Vinyl Ceiling (White)	White	EA		\$0	\$0
Decor Package	Cascade	EA		\$0	\$0
Hardware / Fixture Finish - Brushed Nickel		EA		\$0	\$0
Padded Walls w/no Wainscoting	Houston Quartz	EA		\$0	\$0
Add'l. 110V Recept		EA		\$105	\$105
Rear Vanity					
110v/USB & Shelf in Bunkover		EA		\$175	\$175
R/S					
Multiplex Control System w/App Control		EA		\$0	\$0
Teak Seat in Shower		EA	2	\$630	\$1,260
All Wood Entry		EA		\$455	\$455
Ceiling Fan	Nickel/White	EA	2	\$210	\$420
Bedroom and Living Area					
(3) Decorative A/C Covers		EA		\$1,610	\$1,610
Additional Coat Rack at Entry		EA		\$105	\$105
Wood Valance Inserts ILO Fabric Inserts		EA		\$1,050	\$1,050
	-			Sub Total	\$5,915
Furniture					
Ultraleather Seat Fabric Package	Tottori Sand Castle	EA		\$0	\$0
Convertible Booth Dinette	Tottori Sand Castle	EA		\$1,960	\$1,960
72x80 King Mattress w/Shelf		EA		\$350	\$350
Standard Cab Seat Recover (Required w/Renegade Supplied Chassis)	UL Raven Wing	EA		\$875	\$875
Power Reclining Theatre Seat w/Head Tilt	Tottori Sand Castle	EA		\$2,933	\$2,933
				Sub Total	\$6,118
Cabinets					
HG905S Cabinet Finish	Cape Cod	EA	Ī	\$5,950	\$5,950
Dove Tailed Drawers		EA		\$0	\$0



RV Shop, Inc.

Renegade Motorhomes

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA Salesman: James Hickey

Tel. 574-848-1126 Fax 574-848-1127 Phone: 225-272-8000

Dealer:

www.renegaderv.com Fax:

PO#: Customer Name:

Job #: K01-3974 REV:3 Date Written: 8/12/2025

Description	Color	UOM	Qty	Price	Amount
Mesh Screen ILO Glass in A/V Cabinets		EA		\$0	\$0
Living Room	•	•			
Stacked Silverware Drawer		EA		\$0	\$0
Large Item Drawer, Under Cooktop		EA		\$210	\$210
Cedar Line Wardrobe Closet		EA		\$420	\$420
Pantry w/can & large item drawers		EA		\$0	\$0
76" Bunk Beds w/Drawers		EA		\$1,295	\$1,295
Wardrobe - Expanded Hanging Storage w/43" TV		EA		\$980	\$980
Maple Cabinetry - w/Ashmore Style Doors	Cape Cod	EA		\$0	\$0
Hardwood Cabinet Door ILO Glass in A/V Cabinet		EA		\$210	\$210
Bedroom only					
(2) Drawers w/Enclosure ILO Under TV ward Doors (Expanded Wardrobe only)		EA		\$700	\$700
		-		Sub Total	\$9,765
Flooring					
Floor - Heated (Per Lineal ft.)		LF	34	\$175	\$5,950
Floor - Porcelain Tile 12x24 - 1/3 Brick Pattern	Arenite Avorio	EA		\$0	\$0
Carpet - Slidebox	Washed Linen	EA		\$0	\$0
Tile Wainscoting in Bathroom around Toilet	Arenite Avorio	EA	2	\$490	\$980
				Sub Total	\$6,930
Countertops					
Solid Surface Countertops	Calacatta Costa	EA		\$0	\$0
Color Changing LED's in Countertop Edges & Toekicks		EA		\$1,673	\$1,673
Tile Backsplash in Bathroom	Stone Project Black	EA		\$0	\$0
Tile Backsplash in Kitchen	Stone Project Black	EA		\$0	\$0
				Sub Total	\$1,673
Appliances					
2-Burner Induction Cooktop		EA		\$0	\$0
Recess Cooktop w/Covers		EA		\$413	\$413
Washer & Dryer Stack		EA		\$2,450	\$2,450
Samsung 18 cu ft Residential French Door Refer w/lce	SS	EA		\$0	\$0
Samsung 1.7 cu ft Convection Microwave		EA		\$0	\$0



RV Shop, Inc.

Renegade Motorhomes

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA Salesman: James Hickey

Tel. 574-848-1126 Fax 574-848-1127 Phone: 225-272-8000

Dealer:

www.renegaderv.com Fax:

PO#: Customer Name:

Job #: K01-3974 REV:3 Date Written: 8/12/2025

Description	Color	UOM	Qty	Price	Amount
Premium Exterior Refer/Freezer on Slide tray		EA		\$2,408	\$2,408
Central Vacuum System - Basement Mount		EA		\$0	\$0
				Sub Total	\$5,271
Water Systems					
Toilet-Macerator	White	EA	2	\$0	\$0
150 Gallon Fresh Water Tank		EA		\$0	\$0
Single Lever Kitchen Faucet w/ Retractable Sprayer	Brushed Nickel	EA		\$0	\$0
Waste Tank Flush		EA		\$0	\$0
Single Bowl Stainless Steel Kitchen Sink w/ Cover		EA		\$0	\$0
Flo-Jet Sewage Macerator System		EA		\$833	\$833
Solid Surface Bath Sink	Calacatta Costa	EA	2	\$0	\$0
Outside Spigot		EA		\$0	\$0
Water Management Bay		EA		\$0	\$0
(2) 75 Gallon Holding Tanks		EA		\$0	\$0
(2) Holding Tank Heat Strips per Tank		EA		\$0	\$0
Spray Away		EA		\$0	\$0
Water Pump - Variable Flow		EA		\$0	\$0
Whole House Water Filter		EA		\$0	\$0
Power Retract Water Hose Reel		EA		\$0	\$0
Rear Bathroom w/Corner Vanity		EA		\$700	\$700
Full Second Bath		EA		\$4,550	\$4,550
Solid Surface Shower w/Accent	Aurora Almond	EA	2	\$0	\$0
Stone Project Black					
ShowerMiser Water Management System w/Electronic Sensor		EA	2	\$455	\$910
				Sub Total	\$6,993
Mechanical Systems					
Generator 12.5kW Onan Quiet Diesel		EA		\$0	\$0
A/C (3) 15,000 BTU Low Profile Ducted Roof Mount		EA		\$0	\$0
Power Retract Shore Cord Reel		EA		\$0	\$0
600 Aqua-Hot ILO 450 Aqua-Hot		EA		\$3,073	\$3,073
(2) Maxaire Deluxe Vents		EA		\$0	\$0
Additional Maxaire Deluxe Vent		EA	2	\$525	\$1,050
Kitchen Area and Cabover Bunk				•	



Renegade Motorhomes

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA Salesman:

Tel. 574-848-1126 Fax 574-848-1127 Phone: 225-272-8000

Dealer:

www.renegaderv.com Fax:

PO#: Customer Name:

Job #: K01-3974 REV:3 Date Written: 8/12/2025

VIN #: 3ALHHLD12SSVT9407 Date Processed:

Description	Color	UOM	Qty	Price	Amount
Surge protected transfer switch		EA		\$0	\$0
(2) Victron 3000 Watt Inverters - wire center A/C to inverters		EA		\$0	\$0
(2) High Capacity Lithium Batteries		EA		\$0	\$0
Additional Premium High Capacity Lithium Battery		EA	2	\$4,515	\$9,030
(4) Total		-			
Solar Panel System - (3) 200W Panels w/Monitor		EA		\$0	\$0
Solar Panel - Additional 200W Panel (Ea)		EA		\$735	\$735
A total of four (4) solar panels		•		-	
				Sub Total	\$13,888
Electronics					
Samsung Soundbar w/Bluetooth & Wireless Subwoofer		EA		\$0	\$0
Outside Entertainment Center: 43" LED TV w/Soundbar on Extending/Swivel Arm		EA		\$0	\$0
Samsung 43" 4K HDTV - Living Area		EA		\$0	\$0
43" HDTV in Bedroom		EA		\$0	\$0
Swingarm for Living Room TV- 43" or Smaller		EA		\$0	\$0
Camera Monitor System - Wired for (4) Cameras (2 Turn, 1 Back-up, 1 Trailer prep)		EA		\$0	\$0
(1) Hitch Camera		EA		\$455	\$455
Pre-wire for In-Motion Satellite		EA		\$175	\$175
Starlink - Standard w/Mobility Mount		EA		\$0	\$0

08-12-2025 Page 6 of 7

Customer Order

RV Shop, Inc.

James Hickey



RV Shop, Inc.

James Hickey

225-272-8000

Renegade Motorhomes

Kibbi, LLC, 52216 SR 15, Bristol, Indiana 46507 USA

Tel. 574-848-1126 Fax 574-848-1127

www.renegaderv.com

PO#: Customer Name:

Job #: K01-3974 REV:3 Date Written: 8/12/2025

VIN #: 3ALHHLD12SSVT9407 Date Processed:

Description	Color	UOM	Qty	Price	Amount
Wifi Ranger - Everest 2.0 5G w/Aspen Router (Wifi, OTA, 5G Ready)		EA		\$0	\$0
				Sub Total	\$630

Dealer:

Phone:

Fax:

Salesman:

Order Notes:

NOTE: Due to continued improvement & changes in suppliers, design & production: equipment, colors, material specifications, prices & model availablity Chassis: \$253,330 are subject to change without notice. Changes made to confirmed orders are Base: \$387,940 subject to a change order fee of up to \$1500. Options: \$87,556 Rev: 04/2/2012 Paint: \$51,100 Please Sign Here To Confirm Order: Freight: \$0 Discount:

Total \$779,926

ALL ORDERS MUST BE ACCOMPANIED BY A FLOORPLAN

08-12-2025 Page 7 of 7